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24x + 68y =36 .. (5
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teZ J y=y1—(a/d)t=19—4519-2-t=19—8t
%<t<% ol ey . t<% F t>1—99— o i y>0 5 x>0 ¢
«e—é.ycaudA-‘A.thl-%,lsg On g 2o g Y (Sl
. (8) Asleal
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O @iy (2) & oty ¢ 2=100— (x +y) of 323 (1) Oy
10x + 9y = 600 .. (3)
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Xx=X,+bt=600+9t ,y=y, —at=-600-10t
z=100-(600+9t-600-10t)=100+t>0 VteN

x>0:>t>—¥=—66.66 ,y>0=>t<—60

ey ¢ —66.66<t<—60 13
t=—66,—-65,64,-63,—-62,—-61
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: Jad
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(1) JBa
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Ob—d 4o g« t2=l_§x—lt1 ?5} ¢ty 4 yiig (g sl ¢ o) aals

o 235 lgiey ¢ 4t, =1-3x - 2t,

x=1-24 -2, =1-2t, -1, -3t .. (22)
3t,=1-2t,—t, J L_,;JL@,‘tS,:%—%tl -—;—tz FETPRR
Ol 4dle
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x=2t, +4t; -1 ¢ t,t,eZ .. (24)
ol 223 ¢ (24) ¢ (21) ey
y=1-3t,-3t, .. (25)
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7177 7537 7867 8221 8581 8887 9227 9539 9883
7187 7554 7873 8231 8597 8893 9239 9547 9887
7193 7547 7877 8233 8599 8823 941 9551 9901
7207 7549 7879 8237 8609 8923 9257 9587 9907
7211 7559 7883 8243 8623 8929 9277 9601 9923
7213 7561 7901 8263 8627 8933 9281 9613 9929
7219 7573 7907 8269 8629 8941 9283 9619 9931
7229 7577 7919 8273 8641 8951 9293 9623 9941
7237 7583 7927 8287 8647 8963 9311 9629 9949
7243 7589 7933 8291 8663 8969 9319 9631 9967
7247 7591 7937 8293 8669 8971 9323 9643 9973
7253 7603 7949 8297 8677 8999 9337 9649
7283 7607 7951 8311 8681 9001 9341 9661
7292 7621 7963 8317 8689 9007 9343 9677
7307 7639 7993 8329 8693 9011 9349 - 9679
7309 7643 8009 8353 8699 9013 9371 9689
7321 7649 8011 8363 8707 9029 9377 9697
7331 7669 8017 8369 8713 9041 9391 9719
7333 7673 8053 8377 8719 9043 9397 9721
7349 7681 8059 8387 8731 9049 403 9733
7351 7687 8069 8389 8737 9059 9413 9739
7369 7691 8081 8419 8741 9067 9419 9743
7393 7699 8087 8423 8747 9091 9421 9749
7411 7703 8089 8429 8753 9103 9431 9767
7417 7717 8093 8431 8761 9109 9433 9769
7433 7723 8101 8443 8779 9127 9437 9781
7451 7727 8111 8447 8783 9133 9439 9787
7457 7741 8117 8461 8803 9137 9461 9791
7459 7753 8123 8467 8803 9151 9463 9803
7477 7157 8147 9501 8819 9157 9467 9811
7481 7759 8161 9513 8821 9161 9473 9817
7487 7789 8167 8521 8831 9173 9479 9829
7489 7793 8171 8527 8837 9181 9491 9833
7499 7817 8179 8537 8839 9187 9491 9839
7507 7823 . 8191 8539 8849 © 9199 9497 9851
7517 7829 8209 8543 8861 9203 9511 9857
7523 7841 8219 8563 8863 9209 9521 9859
7529 7853 8221 8573 8867 9221 9533 9871
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Integers

Natural Numbers
Induction

Transfinite Induction
Division Algorithm
Digits

Binary Representation
Ternary Representation
Octal Representation
Decimal Representation
Hexadecimal Representation

Twin Primes

The Fundamental Theorem
of Arithmetic

Residue systems

Residue classes modulo n
Arithmetic Functions
Bernoulli Numbers
Special Numbers

Fermat Numbers
Mersenne i\umbers
Amicable Numbers
Numbers of Equal Weight

Diophantine Equations

clathaall Jala

-

Yy
Al
A
Y1
AR
A\
Yv
£t

oY

AEcAo
A%
\YYV
Yor
AR}
AR}
ARARARY
\VA
YAY
YyYe

dasaia daef

Qo i

&) i

ekl ol S0 Aalal) 3aclal
Az ) 520 dauidl

ald i

AN g

D JAG

Al g

syl Sl

e ) Sl

Al g At Saed

luad) B Al d3a pal

ol g gl Al
n b B g

dgand gl gat

Asin e

Lol dsef

Lo daci

O e s

ilaia bl

Ustate S

Aiid gpal) Y slaal

GR,




lllall s

Linear Diophantine
Equations

Infinite Descent
Regular Primes
Gaussian Integers

Continued Fractions

Finite Simple Continued

Factions

Infinite Simple Continued

Fractions
Periodic Continued
Fraction

Quadratic Residue

Quadratic Non-residue

Associative
Divides
Conjecture

Congruence

Goldbach's Conjecture

Lagrange’s Conjecture

Gauss Crnjecture
Artin Conjecture
Serre Conjecture
Primitive Triple

Pythagorean Triple
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Primitive Root
Congruent Solutions
Incongruent Solutions
Ring

Field

Archimedean Property

Zeta Function
Euler Phi Function
Arithmetic Function

Multiplicative Function

Totally or Completely
multiplicative Function

Mangoldt Function
Mobius Function
Riemann Zeta Function
Eta Function

Elliptic Function

Order

Legendre Symbol
Jacobi Symbol
Group
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sk

Adls
Jia

el ) duald

G Ada

Sl ana

dgae A

Ay pia A

lS Ay N3
al gaila A2
cani g A9
dgilay M Uy Ay
Gy A

Lalial ol dadls A




&lidhaall Jds

Partial order Relation
Antisymmetric Relation
Reflexive Relation
Transitive Relation
Symmetric Relation

Equivalence Relation

First or least or smallest
Element

Highest Common multiple
Prime Number
Composite Number
Number of Divisors
Perfect Number
Abundant Number
Deficient Number
Algebraic Number
Algebraic Integer
Quadratic Irrational
Crible d’ Elastosthene

Riemann Hypothesis
Equivalence Classes
Absolute value

Well-ordering principle
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Principle of Mathematical
Induction

Divisibility

Greatest Common Divisor
Modulo

Mobics Inversion Formula
Quadratic Reciprocity Law
Gauss Reciprocity Law

Invertible or unit

Basic Concepts

Partially ordered set
Well ordered set
Fibonacci sequence
Lucas sequence

Prime Number Theorem
Least common Multiple

Inverse

Chinese Remainder Theorem

Euler and Fermat Theorem
Euler’s Theorem

Fermat’s Little Theorem
Ibn Alhythem’s Theorem
Sum of Divisors

Mordell Equation

Elliptic Curve

Fermat Last Theorem
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Integral Domain Yan daaua dihis
Norm YA Jra o Gabia
Unique Factorization Domain Yo' L g Julas ddlaie
Sam of two squares ™y O 4 4 gara
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